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50% > SKIEEER SEHVEEA N H 7L - studying Geography is 50% more than those
A, 25% (28.47%)|studying History, what is the percentage of]

B 33 1 o (28.27%) students studying History?
3 25% (28.47%)

400 32.39
¢ & (323%)p 3314, (28.27%)
D.  60% (5.00%) 3
400 32.39

662 % (5.56%)| & (32.3%)
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E. 66%% (5.56%)
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The reasons for the proposed change are as follows:

(@) Except for the above four subjects which adopt a 5-option format, all other multiple-choice
papers in CE and AL examinations have been adopting a 4-option format since 1980s.

(b) A review of the item analyses of the above four multiple-choice papers in the past few years’
examinations revealed that the least popular distractors in these 5-option questions attracted
very few responses. In this circumstance, the fourth distractor did not offer significant

contribution towards enhancing the discrimination power of the papers.

UMl - 300 4 IR 5 THBEERE BRI, -

1984 55 29 BH 2002 FFEE 4 BH
Fa o bAlcIgRIEESR > AN ERFE a<0Hb>0 AT E AR Ry=ax+b
SR ax+by+c=0HyE#E? HYEl & 2
A. y A. V (32.8%)
0 ¥
B. " B. 1 (12.0%)
B = A
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/ 0 x
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DIRECTIONS: Questions 45 and 46 refer to the
figure below, which shows a cuboid ABCDEFGH

with AE = 2a, EF = 2b and FG = 2¢, AC and BD
intersect at X.

)
a

E 2h F
45. XE = 46. If the angle between XE and the plane
EFGH is 0, then tan 6 =
a
A, Jal+bi+c’. A. b
2a
B. ya’+b’+(2c) . B. -
2 0
C. \/a2+(2b)2+c2 : C. %.
a
D* 4(2a) +b*+c?. D. T
2a

x %
E. 2+va*+b*+c’. E. m

TN > G R YA NY)EER—f# assertion-reason FHE o SFEYHHEAG 2006 £ 45

E(HAHFHTESEH) ¢ Directions: The question below consists of two statements. Decide whether each

of the two statements is true or false. If both are true, then decide whether or not the second statement
is a correct explanation of the first statement. Then select one option A, B, C or D according to the

following table:
Ist statement 2nd statement
A. True True The 2nd statement is a correct explanation of the 1st statement.
B. True True The 2nd statement is not a correct explanation of the 1st statement.
C. True False
D. False True
Ist statement 2nd statement
The white mist appearing above a cup of hot tea Some water molecules evaporate from a cup of
that we can see is water in gaseous state. hot tea.
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1987 5 AR EE OEREG - FIE—ERHEGR  HAEEHIEES
FAE 23 HR/NY—(EE 16 kg AEERH—(E =

GEERI R Em(R A IR
About 50% of the candidates assumed that

A. 24 kg. the ratio of the volumes of the two spheres
B. 36 kg. was equal to the ratio of their radii.
C. 48 kg.
D.* 54 kg.
E. 60 kg.
1987 5 35 logio X, * logioy * logio 2 BEFZZ4REL > HIl G ERATE (A TSR
e . About — of the candidates thought that
A. y=107 3

X 47 when logio X, logio Yy, logio Z were in A.P,,
B. y= 2 then X, y, Z were in A.P.
C. Yy =X+12
D.* Y2 =xz.
E y=10"2.

1987 4 —JHE A 6 cm & 8 cm » SKETHI A LRATICHIER A -
5198 (BEAEMERRERITHIEE )

GEIEFNER(R A TSR
About 40% of the candidates mistook half of]

A. 37° the acute angle between the diagonals of a
B. 41° rectangle for the angle itself.

C. 49°

D.* 74°

E. 83°

1987 £ F#5a b b /N10% bEbc Ak 10% > Hla:c= FEERN T Em(R AT SUR)

FE 41 About 40% of the candidates claimed that if]
A. 1:1. awas 10% less than b and b 10% greater than
B. 9:10. C, then a =C.

C. 10:9.

D.* 99 : 100.

E. 100 : 99.

1987 4 FEALL3 km/h AYERSREAIIOAT 22 200 > BERILL
% 43 8 15 knv/h BYERARE [ B B BT AR 22 P MY © SRR

G R (A TSR

Given the average speeds for the two parts of]

SR R a journey, more than half of the candidates
A 5 km/h thought that the average of these two speeds
B. 6 kmv/h was the average speed for the whole journey,
disregarding the time taken for each part.
C. 9 km/h
D.* 10 km/h
E. 12 km/h
1997 4F FHImE RIEEFR ? ks CORE T (ESE S )
FT7E L x> =4 Many candidates know that
I (2x+3)2=4x*+12x+9 (x + 1> # x> + 1 in general but did not
. x+172=x+1 recognize that X* = 4 is not an identity.
A. HEI (6.27%)
B.* HAEI (41.52%)
C. HA I (5.32%)
D. HEIRI (37.79%)
E. HE N K11 (9.04%)
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EA=AO > RKZAEO- ° D!/

C

BT
(550 ZABD = ZAEO- Bkt
A BEE

A. 18° (28.83%)

BX  24° (27.13%)

C. 27° (22.81%)

D. 36° (20.84%)

2007 F R A BVEALEER (-1, 1) A A AyRRAAEE G R R

F 30 f RZFATRPU R A BTGS2 PE R
A. (1,135%) (26%) | K5 1 (MidE2 ) Bl A TEEE=2IRN
B. (1,225°) (21%) \(fiFEEE —FRM) » PRILEE T SRR
C* (42,1359 (36%) |2 -

D. (V2 ,225° (17%)

BN RR | KH NS ST AR B SRS P — TR

A Rttt FIE0R » BT AR ELEEYS -

HREAR -

NI

W AR - AR

B A G SRS R AVEH - REEEE It - A8 AHEERH

Bt — N B BEEGSERARMKVER > FHELEUNHER - S EAREES
fg - uTE~%@%-
2001 £E55 49 #H 2003 £E55 43 #E
E¢%mw@ﬁ%ﬁTww~@x%ﬁmTww @K\ﬁm%ﬂﬁﬁ¢%@%gﬁ
firt 2 o
_ ' .
A * 2§+§i2(29 ) y 2x-y=0 3Ix—2y <0 NI 3x_2p=0
| S ' ' A. X+y>10
x>0 e
. x>0 “
2Xx-y<0 3 >
B. X+Yy<6(31.90%) 5 < 2950 WA —
y=0 ol o N
S Xx=0
C. X+Yy26(12.53%)
y=0 3x=2y<0
—y=0 C. X+y=>10
D. X+Yy<6(18.74%) Y0
y=0
2x-y=0 3x—2y >0
E. X+y>6 (6.88%) D.* X+y<10
x20 y>0

FEBI 2001 FRIGHEHRZERBHICIEISHR) -

It is a pity that many candidates confused the inequality

X > 0 with y > 0 (Option B), though they

seemed to know how to tackle the problem. FE{LlEE7EAVRE H B R ALE -
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1996 455 1 I E

KL =15 BFFPHERMARET © | | o mppen— oo
A.  0.076 (3.12%)| 6500

B. 0.077 (22.99%)|A.  0.000

C. 0.0766 (4.47%)B  0.0001

D.* 0.0767 (44.88%)|C.  0.000153

E. 0.076 (24.52%)D.*  0.000154

1999 455 24 RE R E

e o Y [l S FE — ELILEISERS fe— KRG A -
W ER S HYJERAHE] - K% ERSAY SER A A -

A* 30mcm? A.  72mcm?

B. 33mcm’ B. Slmcm?

C. 48ncm’ C.* 33mcm?

D. S54mcem’ D. 30mcm?

E. 72mcm’

2000 555 5 BE B EE

a%{yzxz_l’ﬁUy= BTy
y=2Xx-2 y=3x-3

A 4. 2.28%)A. -2 -

B* 0- 48.07%)[B. 2 -

c. 1. @121%)lc.* 3 -

D. 0=8- (3.90%)D. -9-

E. 454- (4.41%)|5F - 2001 55 12 BHF7 2003 4E58 7 BHH 240

FYEH > N LSRR X BIE -

2001 445 14 jE
HEZYGINTE n FR 0 KZEFIIE 10

M
HESERTITE 0 AR 02— N SRS

e et SRy

Iﬁ o 10 Iﬁ o

A* 19 (22.83%)[A.* 18

B. 21 (10.77%)[B. 20

C. 28 (19.55%)[C. 72

D. 31 (11.30%)D. 90

E. 100 (34.87%)

5 RIBEENEEER RS F AU n?EE 2001 ££55 14 BN SCFI0s ¢

HEEYFITE nFIB N 0 BEREEY -
TR -

DS R H i RIS ZU5 8 5 A DSBS ARG TR - (e — il ey sEaiEEss - A

LUy BB AR R -
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FINE s > (R AN BRI - [ERERFETERGIRTEE 7 NEEEERERHEE
H—WiER R EENEE - DIEEIRE )98 BSRRESEFTA R - NEETRRE T
wEHELIAE > DIBCREENSE RIS - A REN DI AR g2 — R R E - £F
SERGEAMRE H 2 A e N 22y - HE - B —EiEaRiIiios » R E > Z4E4E
FFEEZE © Tl ElEd% - P ZEAVEB(FRANIELR T » B ANEE—(EEHENE
ZFE ? AEIF TS ST R AT -

B ZWE > FTRAGEATT - BERIEEER > RKEREEHEERZH - HIBET > B0
H s » B — R PCRAVERE - o] BRTFE > AR 0] - B CAER R
TEHINMS

B= HH—EANEVEE - s DL AEE U EHIE

1980 4E55 1 58 FAE 3 E 2 & S0 B A
2ab—a?—b*= B C: fils > [EWEELEAIZEE -

A. (a-b)%
B. (-a-b)%.
C. (-a+b)
D. —(a+bh)%
E.* —(a—b)%.
1983 455 35 &5 y
& PR ELAR y = mx + ¢ BVl > TYIHR—TH Y =mx + C
By IEHE?

A. m>0FKc>0
B* m>0k.c¢c<0
C m<0 fc>0

} o 7 X
D. m<0fKc<0 /

EE m>0kKc=0 /
ZA A H P —(EHEAN T RENE X E X
e EER

/‘4

1984 4255 7 7 AR A 2 EEZEEERAEH T (e
KTFHNHEAIVE —x=x -3 fif - AR —{E IEMERY B 2R -

A* HEA4

B. HE1k4

C. HAE-1K4

D. HEA4K4

E. 4:-1-1}4

2000 55 28 @

&+ » ABCD Z&—H&JF » K CF -
A. (a+tb)sinbcm

B. (a+b)cosBcm

C. (asin®+bcos0)cm

D.* (acos 6 +bsin0)cm

E. +a’+b%sin206cm
AT HE P —(EHHE AN RENEZE E X
TEmuE7s &E -

C:\Users\twhung. CLSMSS.002\Dropbox\Data\MathsData\ 8 2 2 E2fffs<p @ 2008\ 75 s B2 @2 g B 2 — 4347 . docx ENHE



EEP RS

BEFMERSVE © £ —AC 1992 2 1996 FH/ABPEG S ZHEREHIGE - WX

o AT :

ERVEME - RBEESS AU ERR A ERVEL & RAE RS
99 > REEEAERERFA WA 52 » REBHFATERBRE - (REEE

o R EHERAYALEE - Fr AN EEE -

PUT B o il -
1992 £E45 50 RE

fi F EY R (EEFE DTS C - KIEIFVE K AB Bil/)\
Bt D - %5 DE 3243 ZADC » 3K0

A, 24°

B. 38°

C. 45°

D. 52°

E. 66°

JiE—

% /ADE =x= ZCDE

ZACD =X (ZsESERIEAE
)

ZACB=90°=X+0 ... (1) CEE FrER-E)
ZABC = 66° (AABC YN FEA)
66°+0=2x....(2) (ABCD #y5M)
2(1)—(2): 114° -~ 06 =20

0 =138°

BEERHB-

JiEZ
& O By KEIVIELL » P B/ NEIHYIELL
A O ~P ~ C 34 o (RofTEE?)
HPEPD - HI| PD L AB (V)4 B FCEEH)
ZBOC = 48° (Bl A/ E R EIE )
ZCPD = 48° + 90° (ACDP HY4[H)
=138°
CP = DP =/\NEIHY 1K
/PCD=/PDC= @ (5 = F T 4 1
Ei))
=21°
Z0BC = Z0OCB = 66° (ZE =4 AMHE)
21°+0 = 66°
0 =45°

FalEhE FHEER R S kY

RN > HHIANGEF—EIE£BAC =24° -

AR > EEHEEE -

C:\Users\twhung. CLSMSS.002\Dropbox\Data\MathsData\ 8 2 2 E2fffs<p @ 2008\ 75 s B2 @2 g B 2 — 4347 . docx

F—0OH



EETEEEEESNE

Sr—raEREE 2
1995 £E4F 48 B

Ed o R 3 cm AUREREIK—IEE

By x em FVIETZ 588 - x BYER KA LUES

/9 0

A, 3\/5 » X cm

B* 243 v

C. 3

b 3 N REEHEE TN B ERm © ar PR R0
2 30% o

E. 3

FalF SRR R SR
R A REARNEFESEH o 3 DUE -

WESREE » BATEMHEEEE - UTHLEVEE R EEEMERE B UE 2
2000 58 33 {H

& R rom BYAREREIR— B &R
3em VIR S > r BMER/NETLUES /D ?

ae 3B » ||
2
3 cm
B. —3\/5
2
c. 3
2
D. 33

E. 342

Bt EASVER R T PREE ) 2% > WEFFEHEACEHREE 7 BE0E
THEFRERAHEE - EERLAMBREEE ? 248 - TR RE A HEREE - SR iE
AERLMIAIBEE T -
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Bl T VO 2 25 R 5 SR 70 Ak 24 RIAS: 144 05 - SEI5 ] 2 LU N GE4E
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BArEE T F A BB EE - AR E A, -

1 2 3 4 5 6
1 Percentages
1.1 Percent 1.2 Percentage change 1.3 Profit & loss 1.4 Price & discount 1.5 Growth & depreciation 1.6 Interest

1 1977Q03 1980Q13 1978Q36 1982Q13 1979Q21 1977Q04
2 1981Q14 1982Q15 1979Q20 1983Q15 1982Q11 1977Q17
3 1982Q10 1984Q12 1980Q12 1984Q16 1994Q09 1980Q33
4 1985Q15 1984Q40 1981Q13 1985Q13 1982Q09
5 1986Q41 1985Q41 1981Q17 1986Q39 1984Q09
6 1988Q43 1985Q42 1982Q16 1992Q44 1986Q13
7 1991Q42 1987Q41 1983Q42 1993Q18 1987Q15
8 1993Q44 1988Q13 1985Q12 1995Q44 1988Q12
9 1997Q10 1989Q13 1987Q16 1996Q14 1989Q14
10 | 1999Q11 1990Q42 1987Q35 2002Q14 1990Q14
11 2001Q27 1991Q11 19880Q41 2004Q12 1991Q15
12 | 2012Q08 1992Q45 1990Q15 2006Q10 1992Q12
13 | 2014Q09 1996Q43 1991Q43 2008Q12 1993Q43
14 2000Q36 1994Q10 2009Q10 1995Q13
15 2003Q11 1998Q14 1997Q38
16 2007Q10 2000Q14 2001Q16
17 2010Q13 2005Q12 2002Q12
18 2011Q11 SPQ10 2003Q12
19 SPQ12 PPQ10 2006Q11
20 PPQI11 2013Q10 2007Q11
21 2014Q10 2009Q11
22 2015Q09 2010Q14
23 2016Q10 2011Q10
24 SPQ39

25 2013Q11
26 2015Q10
27 2017Q10
28 2018Q09
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X2(X + 1)(x + 2)E1 x(x + 1)* 'y H.C.F. &

A* X(x+1)e

B. x(x+1)(Xx+2)-

C. X(x+1)-

D. XX+ 1Px+2)-
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The figure on the right shows the travel graph of]
a passenger train and a goods train on the railway
line between town A and town B which are
350 km apart. Study the graph and answer the
following two questions.

T EEEE A BUE IR -
i © 1978 FF55 28 JE K5 29 (A9
‘ Goods train === -PassengerTrain‘
Town B
< 400
=
g 350
£ 300
£ 250 \4 > ~
£ om RS
£ 150 7 ~X
g0 g N
g 00 \
a o .
12200 1:.00 2:00 3:00 400 5:00 600 7:00 8:00
PM PM PM PM PM PM PM PM PM
Town A Time

Which of the following statements are correct?

(1) The goods train travelled from town B to|on its return journey?
town A. A. 3.75 km/h

(2) When the two trains met, the goods train|B. 40 km/h
was not in motion. C.* 60 km/h

(3) Between noon and 8:00 p.m., the goods/D. 75 km/h
train travelled a greater distance than theE. 80 km/h
passenger train.

A. (1)only

B. (2)only

C.* (1)and (2) only

D. (2)and (3) only

E. (1),(2)and (3)

What is the average speed of the passenger train

PRAFRER ST HERE - A SR E

o B —EFR2E

2006 55 53 &
HNERIEET R - [FEIHE RS —EIER B

L EHEHEORER  CARIRE
B /D SRR R -

A. % (27.94%)
2

Bx 2 (35.61%)
3

. (27.38%)
4

D ¢ (8.68%)

H b ¢
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9
cx 2
8
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AR 0) F2(0, 6) > FIJAABO FYAL AL By
; , A (0,0)- (15.21%)
A. —,2j B. (2,2 (22.40%)
2 0(0. 4) C. (3,3). (39.47%)
B. E,EJ D* (6-3v2.6-32). (22.67%)
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T E g Bl — 20 0 1978028, Q29, 1980Q1, 1983Q35, 1984Q7, 1984Q29,
1987Q4, Q11, Q19, Q41, Q43, 1991 Q45, 46, 1992Q50, 1995Q48, 1997Q7, 1999Q11,
2000Q28, Q33, 2001Q49, Q54, 2002Q4, 2003Q43, 2004Q23, 2005Q35, 2006Q48, Q53,
2007Q30

T E G HERIE 2008

http://www.hkeaa.edu.hk/doc/sd/2008ce%28c%29 math.pdf

Bl mE A G E R4
http://eant01.hkeaa.edu.hk/hkea/topper hkcee.asp?p coverdown=hkcee 3.html
EAPEURS e HZ KAL)

http://www.hkeaa.edu.hk/files/pdf/hkdse/08math _af la Cv.pdf

General examination circular No. 10/2001 from HKEAA, date 14 June, 2001

Test for 1Q: http://www.iqtest.dk/main.swf

T EGEYIEG s © 2006Q45

T Ee B e ELp 1987, 1995, 1997, 2001, 2002, 2004, 2006, 2007

TP E SR R 1992-1996 T BHMIFREUE L AYEREH

BRI (P —2h U H]) 1985

BERIERE . (th—2 1) 1999

25 B4 ¢ http://www.edb.gov.hk/index.aspx?nodeid=2403 &langno=2
HARTEG SRR HEEEEE

file:///C:/Users/twhung. CLSMSS.002/Dropbox/Data/My%20Web/Home Page/MCanswer/index.html
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